INERIBZE BEA A
1 2 3 4 5 6 7 o | Bt NE 13z
ER T BF| (ERER | KA | BET | FEMT [SIEHA| ST | EIETHA

& RER 18 18 19 9 12 13 0 89 7
AHM 26 23 25 22 20 27 4 143 3
JBET 26 21 28 23 22 22 3 142 4
FEMT 25 19 16 19 22 24 2 125 6
=IETA 39 22 21 25 27 29 5 159 1
Bl 32 24 22 22 17 24 5 141 2
RIFETA 31 17 22 20 15 20 2 125 5




INERIESEEE & A B
1 2 3 4 5 6 7 o | Bt NE 13z
ERTH HF| BT | EER| ™ (SETBHLEREN HEM |A#LEYUh
ERET 21 29 30 33 35 27 5 175 2
EER 23 33 29 33 31 30 6 179 1
&t 15 11 14 27 24 19 2 110 5
=BHB | 14 15 30 37 27 26 4 149 3
xR | 11 11 17 7 22 13 1 81 6
HEE 9 13 20 17 22 20 0 101 7
HEYH 17 14 25 18 31 24 3 129 4




INPRIESPE & A C

1 2 3 4 5 6 7 8 | BuH | HEt NE 13z
ERTH BFE| EE prdE™E FRE | LEFHE | EE™ | FEETH| WML

=E F: 21 26 11 24 8 16 2 106 6
RIfET™B 23 27 22 20 11 16 3 119 4
FIR AR 18 17 14 19 12 13 0 93 7
ZH 33 22 30 25 10 20 3 140 3
PR T 20 24 25 19 12 18 2 118 5
T | 36 33 32 34 32 29 6 196 1
W E T 28 28 31 24 26 15 5 152 2
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